
9Ersatzteile
Pièces de rechange
Pezzi di ricambio
Repuestos
Spare parts

Z.
53

5.
56

3

Z.536.252.000
Z.536.252.700

B
1.

2.

Z.536.051.000
Z.536.051.700

Z.535.540.000

Z.535.562

Z.532.255

10.151.033.000
10.151.033.700
10.151.113.000
10.151.113.700

Z.535.556.000
Z.535.556.700

Z.535.557.000
Z.535.557.700

Z.634.938
Z.536.288

Z.635.276.700

Z.534.836

Z.634.912
SW 32

A

10 Nm +/- 1 Nm

Z.535.540.700

Z.535.562

Z.532.255

A

DB

C

36

Z.635.392

32

14

Z.535.542
L 550 mm
L 21 11/16”

3/8" comp.

M10

Z.535.773

Z.532.241

Z.
53

5.
55

9

M16x1

M14x1

M12x1

Z.505.629.000 Z.532.255

Z.536.027.000

Z.535.244.700 Z.532.255

Z.536.029.700

Backflow prevention (1x) and
flow regulator in adapter.

USA/CAN: M16x1

M14x1Z.534.034


